TABULATION - BID 2883 CAMPUS CATERING PAPER SUPPLIES

FOCUS PACKAGING INTERBORO PACKAGING SYSCO

| | FOCUS PACKAGING | | | | | | | INTERBORO PACKAGING | | | | | | | :0 |
|--------|--|------------|-----------------|-------------------|-------------|-----------------|--------------|---------------------|-----------|------------------|-----------|----------|-------------|-------------------------------|----|
| Item # | Description | Case Count | Annual Usage | Price per Case | Extended | | | Price per Case | Extended | | | | NOTES | | |
| 1 | Aprons, Disp. Plastic 28x46 in | 10/100 ct | 30 | \$47.00 | \$1,410.00 | InterPlast | AP2846-200pk | \$64.00 | \$1920.00 | UBT-246-DA | SAFDAP125 | | 5 / 200 CT | | |
| 2 | Bag Breadstick/Hot Dog #9HP | 1/2000 ct | 30 | \$30.75 | \$922.50 | Calif Paper bag | CPB6591 | \$0.00 | \$0.00 | | | | | REJECT - IMPROPE SUBMITTAL | |
| 3 | Bag PTD Deli 8.5"x 8.5" | 1/2000 ct | 100 | \$15.00 | \$1,500.00 | Elkay Plastic | DP8585 | \$24.34 | \$2434.00 | INT-8585-HVY | DP8585 | | | | |
| 4 | Bag, French Fry #6 4.5x4.5 | 1/2000 ct | 45 | \$20.20 | \$909.00 | Calif Paper bag | CPB6591 | \$0.00 | \$0.00 | | | | | | |
| 5 | Bag, Lunch #8 | 4/500 ct | 65 | \$20.50 | \$1,332.50 | Duro Bag | BAG-GK8-500 | \$0.00 | \$0.00 | | | | | | |
| 6 | Bag, Poly 5.5x4.75x19 1/mil for Bread | 1/1000 ct | 20 | \$29.50 | \$590.00 | Elkay Plastic | 10G-05419 | \$29.82 | \$596.40 | INT-55475-19-XXH | 10G-05419 | | | | |
| 7 | Bag, Sandwich #10 6x4.5 | 1/2000 ct | 70 | \$24.75 | \$1,732.50 | Calif Paper bag | CPB6582 | \$0.00 | \$0.00 | | | | | | |
| 8 | Bag, Sandwich, Saddlepack 6.5x 7 | 1/2000 ct | 70 | \$10.00 | \$700.00 | InterPlast | PC657-SP | \$13.34 | \$933.80 | INT-657-HVY | PC657-SP | | | | |
| 9 | Bag/Cover Bun Pan 27x37 | 200 ct | 70 | \$20.00 | \$1,400.00 | Elkay Plastic | BOR2737HD | \$17.82 | \$1247.40 | INT-2737-H | BOR2737HD | \$152.60 | | | |
| 10 | Bags Transport, Handguard 34x24.5 (covers the 18x26 pans) | 250 ct | 50 | \$31.20 | \$1,560.00 | InterPlast | STPL34X25 | \$0.00 | \$0.00 | | | | | | |
| 11 | Bowl 32 oz blk square | 300 cs | 250 | \$57.50 | \$14,375.00 | WNA | 5DD032BK | \$0.00 | \$0.00 | | | | | | |
| 12 | Bowl Blk Incredi 16oz | 500 cs | 100 | \$120.00 | \$12,000.00 | Anchord | M5820B-500 | \$0.00 | \$0.00 | | | | | | |
| 13 | Bowl, Black 16oz, PLASTIC | 500 cs | 200 | \$48.00 | \$9,600.00 | WNA | \$24,017.00 | \$0.00 | \$0.00 | | | | | | |
| 14 | Bowl, Styro White 10 oz | 1/1000 ct | 50 | \$98.00 | \$4,900.00 | Dart Cont. | 10B20 | \$0.00 | \$0.00 | | | | | | |
| 15 | Bowl, Styro White 12 oz | 1/1000 ct | 70 | \$112.00 | \$7,840.00 | Dart Cont. | 12B32 | \$0.00 | \$0.00 | | | | | | |
| 16 | Bowl, Styro White 6 oz. | 1/1000 ct | 60 | \$78.00 | \$4,680.00 | Dart Cont. | 6B12 | \$0.00 | \$0.00 | | | | | | |
| 17 | Box Fast Top- Red/White 7x4.25x2.75 | 250 ct | 100 | \$62.50 | \$6,250.00 | SQP | 3512 | \$0.00 | \$0.00 | | | | | | |
| 18 | Container Round 16oz w/lid , PLASTIC | 150 cs | 200 | \$39.75 | \$7,950.00 | MTC | RO16COMBO | \$0.00 | \$0.00 | | | | 120 CT CASE | | |
| 19 | Container, Foam White Round Squat 4 oz | 20/50 ct | 65 | \$52.50 | \$3,412.50 | Dart Cont. | 4J6 | \$0.00 | \$0.00 | | | | | | |
| 20 | Container, Plastic HNG CLR 1 Comp 5" | 500 ct | 150 | \$61.50 | \$9,225.00 | Sol Pak | CHC5X2 | \$0.00 | \$0.00 | | | | | | |
| 21 | Cover Bun Rack Clr 52x80 | 1/50 ct | 30 | \$17.75 | \$532.50 | InterPlast | BRC52C80 | \$17.84 | \$535.20 | INT-5280-H | BRC52X80 | | | | |

| 22 | Cup, Clear 16 oz | 1000 | 30 | \$74.00 | \$2,220.00 | KARAT | LOL-C-KC 16T | \$0.00 | \$0.00 | | | | | |
|----|---|-----------|------|----------|-------------|-------------|--------------|--------|-----------|------------|-----------|---------|--|--|
| 24 | Cup, Clear 8 oz | 1000 ct | 15 | \$66.00 | \$990.00 | KARAT | C-KC8 | \$0.00 | \$0.00 | | | | | |
| 25 | Cup, Clear-12 oz | 1000 ct | 20 | \$79.00 | \$1,580.00 | KARAT | LOLC-KC12S | \$0.00 | \$0.00 | | | | | |
| 26 | Cup, Foam 10 oz | 1000 ct | 10 | \$58.00 | \$580.00 | Dart Cont. | 10J10 | \$0.00 | \$0.00 | | | | | |
| 27 | Cup, Foam 6 oz | 1000 ct | 10 | \$39.00 | \$390.00 | Dart Cont. | 6J6 | \$0.00 | \$0.00 | | | | | |
| 28 | Cup, Plastic Port 2 oz | 125/20 cs | 60 | \$45.00 | \$2,700.00 | KARAT | FP-P200-PP | \$0.00 | \$0.00 | | | | | |
| 29 | Cup, Plastic Port 1 oz | 125/20 cs | 25 | \$40.00 | \$1,000.00 | KARAT | FP-P100-PP | \$0.00 | \$0.00 | | | | | |
| 30 | Cup, Plastic Port 4 oz | 125/20 cs | 35 | \$71.00 | \$2,485.00 | KARAT | FP-P400-PP | \$0.00 | \$0.00 | | | | | |
| 31 | Cup, Souffle Paper 2 oz | 5000 ct | 5 | \$75.00 | \$375.00 | GenPak | F200 | \$0.00 | \$0.00 | | | | | |
| 32 | Cup, Souffle Paper 4 oz | 5000 ct | 10 | \$105.00 | \$1,050.00 | GenPak | F400 | \$0.00 | \$0.00 | | | | | |
| 33 | Cutlery Kit, K/F/S/NP/SP HVY* Disp. | 250 ct | 20 | \$30.50 | \$610.00 | Wallace | 6232 | \$0.00 | \$0.00 | | | | | |
| 34 | Cutlery School Lunch Kit w/Straw, Spork, & Napkin | 1000 ct | 3500 | \$23.85 | \$83,475.00 | Wallace | 3600 | \$0.00 | \$0.00 | | | | | |
| 35 | Film 12" | 1/2000 ft | 30 | \$14.50 | \$435.00 | InterPlast | FSW1202K | \$0.00 | \$0.00 | | | | | |
| 36 | Film 18" | 1/2000 ft | 50 | \$18.50 | \$925.00 | InterPlast | FSW1802K | \$0.00 | \$0.00 | | | | | |
| 37 | Film 24" | 1/2000 ft | 65 | \$25.50 | \$1,657.50 | InterPlast | FSW2402K | \$0.00 | \$0.00 | | | | | |
| 38 | Foil 12 x 10.75 | 6/500 ct | 35 | \$97.00 | \$3,395.00 | WPL | 634 | \$0.00 | \$0.00 | | | | | |
| 39 | Foil 18" Heavy WGT | 1/1000 ft | 15 | \$75.00 | \$1,125.00 | CHOICE | 12218X1HD | \$0.00 | \$0.00 | | | | | |
| 40 | Foil 24" Heavy WGT | 1/1000 ft | 25 | \$100.00 | \$2,500.00 | CHOICE | 12224X1HD | \$0.00 | \$0.00 | | | | | |
| 41 | Foil, blue design wrap | 5/500 | 40 | \$75.00 | \$3,000.00 | VOLFLEX | FS009 | \$0.00 | \$0.00 | | | | | |
| 42 | Foil, cheeseburger design wrap | 5/500 | 40 | \$81.00 | \$3,240.00 | VOLFLEX | FSO11 | \$0.00 | \$0.00 | | | | | |
| 43 | Food container (soup) 24 oz | 25/500 | 40 | \$115.00 | \$4,600.00 | Dart Cont. | 24MJ48 | \$0.00 | \$0.00 | | | | | |
| 44 | Food container white 12 oz | 1000 ct | 100 | \$77.00 | \$7,700.00 | KARAT | C-KDP12W | \$0.00 | \$0.00 | | | | | |
| 45 | Fork, Plastic Wht Hvy WT Disp. | 1000 ct | 25 | \$21.50 | \$537.50 | GTS | HPPFW | \$0.00 | \$0.00 | | | | | |
| 46 | Fork, Plastic Wht Med WT Disp. | 1000 ct | 175 | \$11.00 | \$1,925.00 | GTS | MPPFW-4485 | \$0.00 | \$0.00 | | | | | |
| 47 | Glove Poly Clear (large) Embossed | 10/100 ct | 20 | \$6.00 | \$120.00 | Safety-Zone | GL-LARGE | \$5.75 | \$115.00 | INT-LRG-PG | GL-LARGE | \$5.00 | | |
| 48 | Glove Poly Clear (medium) Embossed | 10/100 ct | 200 | \$6.00 | \$1,200.00 | Safety-Zone | GL-MEDIUM | \$5.75 | \$1150.00 | INT-MED-PG | GL-MEDIUM | \$50.00 | | |

| | ı | 1 | | | | | | | Г | 1 | | ı | Г | ī | |
|----|---|------------|-----|----------|-------------|----------------|--------------|---------|-----------|-----------------|-----------|-----------|---|---|--|
| 49 | Glove Poly Clear (small) Embossed | 10/100 ct | 70 | \$6.00 | \$420.00 | Safety-Zone | GL-SMALL | \$5.75 | \$402.50 | INT-SM PG | GL-SMALL | \$17.50 | | | |
| 50 | line left blank | | | | | | | | | | | | | | |
| 51 | line left blank | | | | | | | | | | | | | | |
| 52 | line left blank | | | | | | | | | | | | | | |
| 53 | Gloves Vinyl Powder Free (large) | 100 ct | 250 | \$5.00 | \$1,250.00 | Diamond Gloves | DMDLVPF-C | \$3.48 | \$870.00 | MED PRIDE/SAFKO | DMDLVPF-C | \$380.00 | | | |
| 54 | Gloves Vinyl Powder Free (medium) | 100 ct | 750 | \$5.00 | \$3,750.00 | Diamond Gloves | DMDMVPF-C | \$3.48 | \$2610.00 | MED PRIDE/SAFKO | DMDMVPF-C | \$1140.00 | | | |
| 55 | Gloves Vinyl Powder Free (small) | 100 ct | 75 | \$5.00 | \$375.00 | Diamond Gloves | DMDSVPF-C | \$3.48 | \$261.00 | MED PRIDE/SAFKO | DMDSVPF-C | \$114.00 | | | |
| 56 | Hairnet Bouffant- Blue | 10/100 cs | 100 | \$36.50 | \$3,650.00 | Safety-Zone | DBBL-21-1 | \$74.00 | \$7400.00 | SK-HNL-BK | GOL20271 | | | | |
| 57 | Knife, Plastic Wht Hvy Wt | 1000 ct | 10 | \$21.50 | \$215.00 | GTS | HPPKW | \$0.00 | \$0.00 | | | | | | |
| 58 | Lid Dome for 5DD032BK | 300 cs | 250 | \$46.50 | \$11,625.00 | WNA | 5DD200DL | \$0.00 | \$0.00 | | | | | | |
| 59 | Lid Flat-no hole for 16 oz cup | 1000 cs | 100 | \$34.50 | \$3,450.00 | KARAT | C-KC626TS-NH | \$0.00 | \$0.00 | | | | | | |
| 60 | Lid for 1 oz Plastic Portion Cup | 125/20 cs | 30 | \$37.50 | \$1,125.00 | KARAT | FP-PL200-PET | \$0.00 | \$0.00 | | | | | | |
| 61 | Lid for 10 oz Bowls | 1000 ct | 20 | \$55.50 | \$1,110.00 | Dart Cont. | 20JL | \$0.00 | \$0.00 | | | | | | |
| 62 | Lid for 12 oz Bowls | 500 cs | 40 | \$41.50 | \$1,660.00 | Dart Cont. | 32JL | \$0.00 | \$0.00 | | | | | | |
| 63 | Lid for 2 oz Plastic Portion Cup | 100/25 cs | 60 | \$37.50 | \$2,250.00 | KARAT | FP-PL200-PET | \$0.00 | \$0.00 | | | | | | |
| 64 | Lid for 21954 Oval Platter 500/ | 500 ct | 30 | \$65.95 | \$1,978.50 | WNA | 21971 | \$0.00 | \$0.00 | | | | | | |
| 65 | Lid for 4 oz Plastic Portion Cup | 125/200 cs | 25 | \$48.50 | \$1,212.50 | KARAT | FP-PL400-PET | \$0.00 | \$0.00 | | | | | | |
| 66 | Lid for soup bowl | 500 | 40 | \$49.50 | \$1,980.00 | Dart Cont. | 48JL | \$0.00 | \$0.00 | | | | | | |
| 67 | Lid Plastic Vent for 4/6 oz Center | 1000 ct | 50 | \$32.50 | \$1,625.00 | Dart Cont. | 6JL | \$0.00 | \$0.00 | | | | | | |
| 68 | Lid, 6 oz Bowls | 1000 ct | 60 | \$42.00 | \$2,520.00 | Dart Cont. | 12JL | \$0.00 | \$0.00 | | | | | | |
| 69 | Lid, clear for 3 compartment tray | 252 ct | 50 | \$116.00 | \$5,800.00 | Dart Cont. | C64DLR | \$0.00 | \$0.00 | | | | | | |
| 70 | Lid, Dome (for 16 / 24 oz Black Bowl) THIS IS THE LID TO GO ALONG WITH ITEM #68 ABOVE. | 500 cs | 200 | \$46.50 | \$9,300.00 | WNA | \$24,500.00 | \$0.00 | \$0.00 | | | | | | |
| 71 | Lid, flat for 8 oz clear | 1000 ct | 15 | \$34.50 | \$517.50 | KARAT | C-KC8TS-NH | \$0.00 | \$0.00 | | | | | | |

| 72 | Liners, Baking Cup white (2.5x1.5) | 10,000 ct | 25 | \$79.00 | \$1,975.00 | PATTERSON PAPER | 4215120000 | \$0.00 | \$0.00 | | | |
|----|---|------------|------|----------|--------------|-----------------|---------------|--------|--------|--|--|--|
| 73 | Menu Tissue 12 x 12 | 10/1000 ct | 5 | \$122.00 | \$610.00 | BROWN PAPER | 7B1-A | \$0.00 | \$0.00 | | | |
| 74 | Mop Head, Cotton, Light Cut End, 16oz | 1 each | 150 | \$3.50 | \$525.00 | Gold Star | ASB1-M | \$0.00 | \$0.00 | | | |
| 75 | Napkins, 7 x 13.5 in- 1 ply | 20/500 cs | 50 | \$42.00 | \$2,100.00 | RJS | D-20500 | \$0.00 | \$0.00 | | | |
| 76 | Pagoda # 16 (Print) | 450 ct | 350 | \$50.50 | \$17,675.00 | Fold Pak | 16WHPAGODM | \$0.00 | \$0.00 | | | |
| 77 | Pagoda, #16 (White) | 450 ct | 120 | \$50.50 | \$6,060.00 | Fold Pak | 16MWWHITEM | \$0.00 | \$0.00 | | | |
| 78 | Pan Liners, Paper (Zenith) 17x25x27 | 1000 ct | 200 | \$44.50 | \$8,900.00 | BAKER'S MARK | 433QLINER | \$0.00 | \$0.00 | | | |
| 79 | Plate, Foam Lam White 6" | 1000 ct | 5 | \$34.00 | \$170.00 | REYMA | FPR6FB | \$0.00 | \$0.00 | | | |
| 80 | Plate, Foam Lam White 9" | 4/125 ct | 15 | \$27.25 | \$408.75 | GTS | ECP-AP9125 | \$0.00 | \$0.00 | | | |
| 81 | Plate, Paper 3 Comp 10.25" | 4/125 ct | 5 | \$126.00 | \$630.00 | SOUTH CHAMP | SCH-18163 | \$0.00 | \$0.00 | | | |
| 82 | NOT INCLUDED IN BID | | | | | | | | | | | |
| 83 | Platter Blk/Dome Lid | 250 ct | 30 | \$40.25 | \$1,207.50 | WNA | 21621 | \$0.00 | \$0.00 | | | |
| 84 | Platter Oval 2-Cell Blk | 500 ct | 30 | \$82.00 | \$2,460.00 | WNA | 21957 | \$0.00 | \$0.00 | | | |
| 85 | Pot Holder 8X8 Brown Terry Cloth | Dozen | 30 | \$32.00 | \$960.00 | BEST VALUE | 802TPH | \$0.00 | \$0.00 | | | |
| 86 | Spoons, Plastic Heavy- polypropylene Disp. | 1000 ct | 10 | \$21.50 | \$215.00 | GTS | HPPSW | \$0.00 | \$0.00 | | | |
| 87 | Spoons, Plastic Medium- polypropylene Disp. | 1000 ct | 180 | \$11.00 | \$1,980.00 | WALLACE | 3642 | \$0.00 | \$0.00 | | | |
| 88 | Stirrers, Coffee, Plastic 5" | 10/1000 ct | 14 | \$20.00 | \$280.00 | GTS | SS5R101 | \$0.00 | \$0.00 | | | |
| 89 | Straw, Wrapped Med | 24/500 ct | 2 | \$67.50 | \$135.00 | Safety-Zone | SM120IWW | \$0.00 | \$0.00 | | | |
| 90 | Tray 5/Comp black 500/cs | 500 cs | 2000 | \$55.00 | \$110,000.00 | PACTIV | YTHB05000SGBX | \$0.00 | \$0.00 | | | |
| 91 | Tray, 3 compartment Clear | 252 ct | 50 | \$168.00 | \$8,400.00 | Dart Cont. | C30DE3R | \$0.00 | \$0.00 | | | |
| 92 | Tray, Foam 5 compartment, school lunch; 10x8x1 | 500 ct | 3000 | \$46.00 | \$138,000.00 | REYMA | SLT5 | \$0.00 | \$0.00 | | | |
| 93 | Tray, Food Papar Coated #3, Red Checkered | 500 ct | 500 | \$35.50 | \$17,750.00 | SQP | 8703 | \$0.00 | \$0.00 | | | |

| _ | Tray, Food Paper Coated #1, Red Checkered | 1000 ct | 200 | \$35.50 | \$7,100.00 | SQP | 8701 | \$0.00 | \$0.00 | | | | |
|-----|---|-----------|------|----------|--------------|---------------|------------|---------------------|-------------|-----------|--|--|--|
| 95 | Tray, Food Paper Coated #2, Red Checkered | 1000 ct | 200 | \$44.00 | \$8,800.00 | SQP | 8702 | \$0.00 | \$0.00 | | | | |
| 96 | Tray, Food Paper Coated #5, Red Checkered | 500 ct | 2500 | \$43.50 | \$108,750.00 | SQP | 8705 | \$0.00 | \$0.00 | | | | |
| 97 | Wrap Food Dry Wax 12x12 | 5/1000 ct | 15 | \$72.00 | \$1,080.00 | COURGAR PAPER | DAISY-1258 | \$0.00 | \$0.00 | | | | |
| 98 | Wrap, red check GR 12x12 | 5M | 40 | \$95.00 | \$3,800.00 | COURGAR PAPER | 12X12RCK | \$0.00 | \$0.00 | | | | |
| 99 | Zipper lunch kit pouch | 250 ct | 60 | \$78.00 | \$4,680.00 | TC | ROB11506 | \$0.00 | \$0.00 | | | | |
| 100 | Bowl, Paper 12 oz | 1000 ct | 80 | \$77.00 | \$6,160.00 | KARAT | C-KDP12W | \$0.00 | \$0.00 | | | | |
| 101 | Containter, Paper, White 6 oz | 1000 ct | 100 | \$66.50 | \$6,650.00 | KARAT | C-KDP6W | \$0.00 | \$0.00 | | | | |
| 102 | Film, PVC Roll Per 14x14 | | 30 | \$18.50 | \$555.00 | WPL | 313 | \$0.00 | \$0.00 | | | | |
| 103 | Hairnet Bouffant- Brown | 10/100cs | 100 | \$132.00 | \$13,200.00 | Safety-Zone | DPLW-22BRN | \$74.00 | \$7400.00 | SK-HNL-BK | | | |
| | | | | | | | | | | | | | |
| | Total Bid | | | | \$759,666.25 | | | INTERBORO PACKAGING | \$27,875.30 | | | | |
| | Awarded in total to Focus Packaging | | | Focus | \$758,256.25 | | | | | | | | |